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The one that was given is similar to this #. Instead we had to find the max height of the ball after point B.[image: ]
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Problem 15-62

The man 4 has weight 174 and jumps from rest onto a platform P that has weight Wp. The platform

is mounted on a spring. which has stiffess k. If the cocfficient of restifution between the man and
the platform is e, and the man holds himself rigid during the motion, determine the required height /
of the jump if the maximum compression of the spring becomes J.

Given:

Wi=1001 Wp=601 S=2%

I it
k=200  g=322— =06
ft 2
s
Solution
W4
my = —=

vp2
Given
1
energy Wah=Smyvar
momentum —mgviy = myvy+ mpypy

restitution ev4l =v42 = VP2
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Problem 14-83

Just for fun, two engineering students
each of weight 7. 4 and B. intend to jump
off the bridge from rest using an elastic
cord (bungee cord) having stiffness k.
They wish to just reach the surface of the
river, when 4. attached to the cord. lets go
of B at the instant they touch the water.
Determine the proper unstretched length of
the cord to do the stunt. and calculate the
maximum acceleration of student 4 and
the maximum height he reaches above the
water after the rebound. From your
results. comment on the feasibility of
doing this stunt
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Given:
- n

W =150 b kg0 h=120
T

Solution

Tj+Vi=T2+ V>

1 2
040=0-2h+-k(h-1)

L=90ft

At the bottom, after A lets go of B

s kg ft
Kh-L)-W=|—|a a="(h-L)-g a=483— =
g/ w 2 £

Maximum height

Ty+Vy=T3+ Vs Guess H=21  Given

1 1
0+ k(=D = WH+ Sk(H - h-1)? H =Find(H) H=21889

a
This stunt should not be attempted since — = 15 (excessive) and the rebound height is

above the bridge!!
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*Problem 15-64

If the girl throws the ball with horizontal velocity v, determine the distance d so that the ball

bounces once on the smooth surface and then lands in the cup at C.

Given
£ # w
=8 g=322 —
S 2
s
h
e=08 3q
. L
Solution B

= =043 s
i
Byl = g18 By = 1390
i
By = vy mpp= 1112
= 1c=069s

d=vy(g+ic) d=898%




